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INSTRUCITIONS 10 CANDIDAITE
Candidates are to use the Answer Sheet provided.

2. Ensure that you fill in your Registration No. correctly in the space provided in the OMR sheet as shown in the
example there.

3. Candidates are required to mark the correct answer choice by shading the circle completely with blue or black ball
point pen. (Pen of any other colour or pencil is not allowed). For example, if the correct answer to question no 1 is 'B'
then the marking should be:

@ V%Q "&g‘?d @ 1. Correct method

4. Write ALL YOUR DETAILS on the answer sheet as asked for.

5. Onlyone circle, i.e. the correct one should be shaded. Shading more than one circle will render the answer invalid.

6. Acandidate having completed his’her ANSWER SHEET must hand it over, even if blank, to the invigilator.

7. Anexaminee must not bring any loose paper, book, etc. to the Examination Hall. Any examinee found in possession
of even loose papers will be EXPELLED.

8. Anexaminee must not talk to, disturb or seek help from a fellow examinee during the examination.

9. Any mechanical or digital calculating device (calculator, Smart Watch, Cell Phone etc.) shall not be used by the
examinee during the examination.

10. No candidate will be allowed to leave the Examination Hall during the first hour of the examination.

11. The Question Booklet comprises of 100 compulsory questions, for each correct answer 1 marks will be awarded.
There is no negative marking for incorrect response

12. Full Marks : 100 and Time Duration : 2 Hours

13. Contravention of any of the instruction mentioned above shall render a candidate liable for disciplinary action as per rule.
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AJMAL SUPER 40 ENTRANCE TEST

Class - VIII

Time: 2 hours

Full Marks: 100

MATHEMATICS / 99 (40 Marks)

Last year the price of petrol was 65 per liter.
Recently the government decreased the price of petrol
to %61 per liter. What is the percentage decrease in
price of petrol?

a4t a%a @fS oo (eGera o @ifew 65 5t | IS
BIFICA (28519 e 61 Bitel g Ffaa | (o == o0
*oq e wfE ?

% A&7 2ifS bR c»Grem T few 65 Bt | TSI w17
C*Geera Em S0 61 B ffme Fae | (oGrem o *rewa
TR HAfe TS ?

3 3
A) 8—% B) 6—%
()650 ()650

2 34
C) 6—% D) 6—%
()130 ()610

Abdul lent some money to his friend for 6 years, for
which he received 32000 as interest; if his friend paid
back a total of 12000 then what was the rate of
interest?

e g 59 6 I599 A (96T IFE ¥R ez A A9
(€ 2000 5% 7 Zoitet A, 7% (o9 a7 (08T I
12000 5%t fta (o o1 211 Fwie wifez

wie g Afaie Biwt 6 Taa T ©id IS 4 wet T
T (31 9 fEATE 2000 Bt 2 | 7% O 75 ©ieE 39 12000
Biwt ora, o3 wa 29 T {2

(A) 2%% (B) 4%%
(©) 5Lo (D) 310,

—70 —70

3 3

E D

q

P
50 70 r

A B c

Observe the figure given, AE” BD and BE || CD find
the value of p+q+r

fo@e AE||BD @i% BE|CD 2@ p+q+r 39
e vt —
ewe fora AE| BD @3z BE|CD =@ p + q + 1 @3 T
s —

(A) 180° (B) 170°

(C) 190° (D) 80°

If two angles of a triangle measure 45° and 60° then
which of the following angle cannot be the measure of
one of the exterior angles of the triangle?

Tfw bt fTgea 45t @iet 45° wi= 60° 2T, (ST
TETR (FICH! (FIoTAR 51 AT (FloR Mot 777 2
Tt @S fqerem ufd @i @ 457 @3z 60° 27, 5@
Toa @ (Fid o7 @ ® afZZ @Fiee et 7a e
(A) 105° (B) 120°
(C) 140° (D) 135°

If the length of two sides of a right angled triangle are
equal and the square of the hypotenuse is 400 sq. cm,
which is the length of each sides?

i 9Bt Tl fagera wh! g Tiw 20w 20iE Sfage
39 400 3sf (gt 27, CorE Zaia aiferht arga e feww
EEE:
T @& 6 s fagrea wfd are s =0 «a22E ofa-
gorE 39 400 39 Crefe 23, ora 3 e iz ot 7o
@?

(A) 40 cm (B) 1072 cm

© 50/2 cm (D) 15cm

If 0° =273K then 0° +0" =?
T 0" =273K , (ot8 0" +0° =?
T 0" =273K,%@ 0°+0° =2
(A) 546 K
(B) 0K
(C)273K
(D) None of these / 4518 727 / GBS 77
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5 6
Jain’s height is 3g feet. If his sister is 47 feet tall, then

what is the difference between their heights?

GESERCR Tl 3% T | 7 o1 ©f6q Tl 4% T 7T,
(ST (€ (e Lol 211<F) fFme 292
(R Toel 3% T6 | T OIF (AT Toool 42 T6 7,
TR S THOIA 211 F© FA ?

(A) %feet/@ (B) léfeet/@

2 1

©) £ feet/ 6 (D) IE feet / T
Mahmadul took 4 minutes to complete a race
comprising three rounds. The time taken to complete

3 1
the 1 and 2™ round is 2 min. and 15 min respectively.

How much time was taken by Mahmadul to complete
the last round?

sz fofot Avea aria aferaifiet @bt s Faics
4 o5 e =it | 2l i fadE e w5 Fraice

3 1
mzﬁlﬁ%w lgﬁﬁ%mmﬁ,mw

s aGe oo Ffaaca fme s et 2
e fonft aitrea @i e afsraiet i Fare
4 Tl w7 =it | 2lew @3k 48 afbe oy Fare

e %ﬁﬁ%mz I%ﬁlﬁ%mmmuﬁﬁaﬁ@ Fojef
FACS AZAVLEA TS T3 (FaIRe 2
(A) 2%min/ﬁlﬁ% (B) %min/ﬁﬁ%

(C) I%min/ s
(D) None of these / @518 727 / GFHS 77

2y—1 1+y _Z_y—l
2 2

-1
_y2 20 ‘y’ I [Fe e

What is the value of ‘y’ in

2y—-1 1+y 5
5 2
2y—-1 14y _2_y—1
5 2 2
A5
)8

Ty AN FO?

(B)-8
(D)-5

11.

12.

13.

Sunil’s father is 44 years old. If he is 5 year older than
thrice Sunil’s age, which of these equations on solving
will give Sunil’s age?
AT (MEOIFA TTH 44 g3 | AW (093 TT JAe1 T4
fefeerets 5 aea @R 23, (9@ oo (@I e
Rarera 3T fdiad Ffea 2
AAceTa foreta 79 44 ICR | 7MW Tl T JATeR TWER
fongernars 5 3w A 23, o3 fiesa @i A
bRIGEREVACEICEE(C R
(A) 3x+5=44
(C) 44—-6x=5+3x

(B) 44+2x=3x
(D) 3x-5=22

Ram and Rahim are two friends, Ram has %12 less than
twice the amount of money that Rahim has. If Rahim has
%P and Ram has 221, then find which equation represent
the given situation ?

I 1< (3 G IF | A9 €50 4| 5 wAfamierq
329 epa 94! 5HIa naeerels 12 55t w9 | 1 <z
C5@ ‘P’ BF| S q39 (0@ 2 155! AT, (% el
(FITCH! AN G2 AfTEoE S|

A R AL G I | A 2ITS ARCTE TS AT B
sifaiceid yRed (AF 12 5 T Ot | T Az Qe P
Biwt @32 FTTE 20T 21 Bt AT, O3 MoA (@0 AqFae
2 2AfFEBITE IECa ?

(A)§+21:2><12 (B) 2P—12=21

(C) P+21=2x12 (D) 2P—-12=24

1 1
If (a ——) =12, then the value of @’ +—is -
a a

T (a—l):lz, 77, Ma%iz IAFETI—
a a

T (a—l):IZ, @,Wa%iz a@F W I —
a a

(A) 24
(C) 144

(B) 146
(D) 73
Theproductoflx(p_q)(p_,_q)(pz+q2)isi
Ix(p=q)(p+q)(p’ +q°) 3 7aerwm 77 —
1x(p=q)(p+q)(r’ +q") 97 *Ree 7@ —
A p’-¢° B) p*+4°
© p'-¢' D) p*+4¢*
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14.

15.

16.

17.

18.

S5x—m =1
(A) 5™
© 5°

(B) 5
(D) 1

3{(-6)+20} +(-7+9)(2)-12 =2
(A) 34 (B) 33
(C) 32 (D) 31

4 4
X xy

16 7
X XYy

The value of

-4 4
X X
S AE—
X Uxy
x4‘><y74
7

G A—
X Xy

(A) x'xy”!

1
©

12
XXy

(B) x'x y

(D) x"*xy’

Rahul has marbles of different colours — green, red,
yellow, and blue. Out of these marbles 15% are green 8%
are red, 32% are yellow and remaining marbles are blue.
Rahul has a maximum number of which colour marbles?

QALET GHAS (TG, A¢!, ZART =< Ae wifn fEw ae
et ST | W R 15% Wik GRegi, 8% qet, 32%
ZAT S AR ATl 96 T (ST e S5AS
(@61 969 W4 wBiRels (A% g ?
AT FIRAIE, A, Lo @42 el q0ed Tdet @iz | qm
15% T 4&1 7qG, 8% e, 32%ZER €32 I ML ST [
A T O AL FIZ (TG ACEA NKe1 FACoCH (@
TR ?

(A) Yellow / Z=1&mt / 2o (B) Blue / ftett / e

(C) Red / &l / == (D) Green / iega / 9@

If 100: 16%:: x :1, what is the value of ‘x’ -
‘ﬂﬁ100116%::x:1, T, (90T ‘X’ INAZT —
‘ﬂﬁ100116%::x:1, T, o9 ‘x’ G9 MH T —
(A) 1 (B)6
6

1
©38 D) 3

19.

20.

21.

22.

23.

24.

When I was 4, my sister was half of me, I am now 44.
How old is my sister?

(N2 3T (AT 4 I294 Wee cofen i ofee 7991 (=
IS iyl wifEeT | (T T IO 44 %9 20A (N9 ©f6
T [ 2'a ?

IF FTA T 4 I et ©Udw WA (@it T =i

TR Y & | S I TN 44 IR A SN

(AT T TS ZCA ?
(A) 22 (B) 40
(C) 42 (D) 41

If 3()c-i-2)2 =507 then ‘x’ can be —
@ 3(x+2)" =507 27, (90T ¥’ AAMZT —
o 3(x+2) =507 78, %@ & @3 T TE@ —

(A) % (B) 13
O 11 (D) 17

In a certain code, if TREE is coded as 7100, FROG
as 2159. How is FREE coded in that code?

Tfw 9B1 JLFes TREE 3 7100 1% FROG 3 2159
f2pitel foret =7, % wsteow FREE & famea forat 279 ¢
TW TREE (& ALFeF ©itd 7100 @3z FROG &F 2159
&9t fe1<l 29 o4 FREE (& @ eita ot 2ta 2

(A) 2100 (B) 3100

(C) 1003 (D) 1002

Choose the missing terms out of the given
alternatives.
T,R,P,N,L,?,?
were frat fReraaiea =it 91 ~iweot Aifg Tfereat
T,R,P,N,L,?,?
fn rewi fRegaten (4= ¢ M (@R (@@ F4
T,R,P,N,L,?,?
(B)J,H
D)K, 1

(A)J, G
(O)K, H

Which of the following will be place of
2’ q J[ZS TR (FICHI 2?2
“? @R BT ACHA @0 22

1,6,7,13,20,?
(A) 25 (B) 28
(C) 30 (D) 33

Identify the diagram that must represent the
relationship among the classes given below.
Liquids, Milk, River Water
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25.

26.

o, AT, e~ wifng wiere 9% o St oacs!
e F4 |

4, ¥4 IR ARIF GCAD T 7TF Fiok Fa Bald
(AR (A9 <9I

o (1D w (©)

The positions of the first and the Second digits in the
number 94316875 are interchanged; similarly, the
positions of the third and fourth digits are
interchanged and so on. Which of the following will
be the third to the left of the seventh digit from the
left end after rearrangement?

9431687 5ARAITHIF 212w =i [GSH WO Zi Ferai- Hetel
7l 2| % CRwta ToIm oI ol WeFd Fiw Fel- T
T 4, (TRACA ADIRFLD! SF B T - Fertel
T4Ce1 ©T4 (FIICH! AT A4 A W AGHCEA gory
Fie A
94316875 767 etem @R s =i yiva 3w Afaden
w4l 271 | 0% CReia o «3g bod wigw yiba F vifdden
341 271 | (2SI ATSIF b OFA Z Afaden Fiara AMea
@I At fwe (At A s AW e wot Fi
difF@?
A1
©o6

(B) 4
(D)3

Laksman went 15 km to the West from his house then
turned left and walked 20 km. He then turned East
and walked 25 km and finally turning left covered 20
km. How far is he now from his house?

wrvel ©IF 994 #1415 Reefit #if*em witer @i oige ane-
wita gf7 20 ez care wiforet | o= vigs & sjwiter gf3
25 Tz calier wiforet @i wdrewe Arewriea g7 20 fFsfie
wfeeEs Ffte | 31 I97 o1 997 7171 fFwie 1ae @irg ?
wTwet tera 99 (A0S AT @06 15 fFefie oifsow furs ahemia
7 I fwee g9 20 fefie 2 | oF 7 @1 #Fwes 3ea
25 feefiie Zibrent «aR 7{eeita 3w e 93 20 efie
ST FACE! | (3 TSN ©IF T (AF FS FAE AR ?

(A) 15 km (B) 20 km

(C) 25 km (D) 10 km

27

28.

29.

30.

Find out the pair which is different from the other
given pairs?
s gareeot F Az Tlereat |
Wit it (el @re @@ |
(A) Cow and Buffalo / 9% @Ii% T2/ 5% @3 Wfze
(B) Cock and Hen / TS 4| & N2d! FF41 /
PERIRGE R e
(C) Horse and Mare/ cafai =i<s cafat /
et AR T
(D) Dog and Bitch / $F< @ii® FFat
/ 3T R FFA

Read the following statements and answer the
questions that follow. (Question Number 28-30)

weTe wal Tferara siupas 9 (28-30) G el 7za
Tes i
s (rewt feef wgm 17 (28-30) o TEA
TeA Wi |
(i) P and Q like football / P &Il Q (7 o3¢ ©iF 2w /
P G3R Q T69e 21w FCA
(i) P and S like hockey and badminton /
P S (1 2@ Wi® (@O oie #ifa /
P @32 S TfF G (FTFGA 25w IR
(iii) Q and R like cricket and football /
Q wii% Rea f&tat o< Fo9e ©fe 2
/ Q 3% R {5 @3 T63e1 7w 02
(iv) R and S like badminton and cricket /
R W% S (1 ([E(64 o< &6 e 211
/R @@ S a6 @3 FH9e1 2w Fd
Which player does not like cricket?
e (LA fEFras ofe ara?
(e (AT fFeah oiew Feaa?
AP B)Q
OR (D)S
Who likes hockey, football and badminton?
(I 2, ToIe1 A (T ©feT o117 2
@ 2, THae1 GIR (TCHo AT F04 ?
(A)P B)Q
OR (D)S
How many players like all the four games?
frwire ceegtat vifaght cdet e it 2
FOTH (ATANG BIfFD! (LR 21w F¢a 2
(A)P B)Q
OR
(D) None of these / @Bl 72x / @& oS T
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31.

32.

33.

34.

35.

Choose the alternative which most closely resembles
the mirror image of the given combination.

WHITE

ToTd (o) [ReEz WHITE T wizeliws 3% 1 #ls
wfofave qua s

Mtoa @6 75 WHITE @3 wofte 7% gem #fis

afefases Foma e
® HATIHM

» HLIHW
© dTIHW o ETIHW

Choose the correct option:

ws e Az Tfeat —

g gt @R @@ F —

SCD, TEF, UGH, WKL
(A)UT (B) VIJ
(C) CMN (D) UJI

Find the missing character of the following

were frm foua o1t 7@ 2wt Aife Tlereat
= eve oarets @ *md (@ @@ 741

7|14
79|

B)3
(D) 18

(A)2
©e

Vikas ranks tenth from the top and twenty six from
the bottom in a class. How many students are there
in the class?
@977 231 @3 I 72 W< $oE 23t Qi 2T
(HATHTS o FTem =T - 2a wg?
AT W TARCATE Wi @3R 6 (AF == gt
(AN Bre T Fooe Q9 - Tl W2 ?

(A) 30 (B) 35

(C) 36 (D) 34

Which number will replace the question mark in the
following?

weTe Al AR elEtalsR( ?) fowa oige f wieeyl afza e
Sts oreTt AT ARt ( ?) orza Biw & At 3fzga e

1 2 3
11 7 5
120 45 ?

37.

38.

39.

(A) 19
(©) 16

(B) 17
(D) 15

If Pink is written as NGLI How will IRON be

written?

Tt Pink & NGLI (3 1<t 27, (ot® IRON 7 & w4 ferat
79?

Tf# Pink (& NGLI f&1ita f&<it 23, ot IRON & & ©itg

IGRIEICE:
(A) GPML (B) KMPC
(C) GMPC (D) KPML

Ankur is father in law of Tony. Tony is the wife of
Ramu. How is Ramu’s Brother related to Ankur?

TFA (Z0R BE *2F | B (207 A (RANCTF | I ©IEFA
SF I A9 T [F 22
WFA B 2w | B A F | IR Areld ATe NFTIA T
&2
(A) Brother / ©i2f6 / @ret
(B) Father / (w&e} / fore
(C)Son/ %@ /<@
(D) Father in Law / 23 / 9&3

Eliza is fourteenth from the right end in a row of 40
girls. What is her position from the left end?

40 A (I 2 #IifS @Bre e 2 «ferea Bw
©2r% buvH | A1 TieTE A9l ©iRE Eiw e 29 ?
40 T (0T A @& 6 Afare TEins (AF aferena g
Hov* | AW (AF O FH F© ZCA ?

(A) 27" (B) 26"

(C) 25" (D) 24"

Ram is the brother in law of Shyam and Sita is daughter
of Mita, and Mita is wife of Shyam. How is Mita
related to Ram?

W (2R HE PEIiTE S Tl (2re fee v wie
fire! tzre *ve J | e qe e wEws! fF e
AN #TE e @3k Fret Frera Tt 93k
fire! =iz & | At e firer s 6 2
(A) Sister in Law / @&t / #&ht
(B) Brother / Stz / aret
(C) Sister / StTF / @W
(D) Mother / 511 /=t

5 @.‘“Mﬂl SUPER 40  Ajmga| Super 40 Entrance Test—2021 /AS40 / Date —07-02-2021 / CS -Vl
Run by AJMAL FOUNDATION



40.

41.

42.

43.

44,

31001 _31000 — ?
(A) 31001
(C) 31000
(D) None of above / S2[q1 «BI€ 72

/ A GF B8 T

(B) 2

SCIENCE / f3&19 (40 Marks)

The smallest measurement that can be measured by using
a wall clock is —

@B} (FAE TOITA G ot formew et tare —
&% orare =i =t Afassicaten Fres wiab —
(A) 1 sec/ (TS / (TS
(B) 1 min / faf¥% / ffe®
(C) 1 hour / =%t / 551
(D) 2 sec / (FS /| (FS

If the density of a substance is 2x10°kg / m’ then the
mass of 5 m’ of this substance is -

I 51 2L TG 2x10°kg / m’, cor® AL 5 m’
IeITI—

I a6 smieda gy 2x10° kg / m’ , orF omidHa 5 m’

dqgeq 39 —
(A) 1000 kg
(C) 10000 kg
(D) Both (A) and (B) / A== B wt@l / A @3k B

(B) 10000 g

36 km/hr = m/sec.
36 el /w51 = e /e
36 fefiiz /w61 = e /o

(A) 10 m/sec / e/ cerres / g/ oeere
(B) 15 m/sec / T/ carae / g/ oiwe
(C) 20 m/sec / T/ carae / g/ oiwe
(D) 5 m/sec / Tt/ (e / fe/ iwe

A simple pendulum takes 40 sec to complete 8
oscillations, the time period of the pendulum is —
95! A (WIS 40 (HFSS 8 B (e 7olef B,
(MIETCoIE T o1 23 —
@& (B FFE (EF 40 CGILFTe 8 B (wietm 717)of g,
I {bd #1111 7a —

(A) 10 sec / ((FS /| (FS

(B) 320 sec / (TS / CFS

45.

46.

47.

(C) 5 sec/ (@S / (TS
(D) 15 sec / (TS / (FS

A boy takes 20 minutes to reach school from home on a
bicycle. If the speed of the bicycle is 3 m/s. the distance
between his school and home is

T TR HIFCACE T 271 Feaea TS 20 Fifers s
ot | AW HIRCFeTa W 3 my/'s, T (ST &1 A6 o1 A
LEERIERT AT TR

(B AeTE AT T (AT FA (TS 20 Ffo g
et | T AFCER TS 3 m/s, T SR (RLADA FA @R

AR YA TG —
(A) 60 m (B) 3600 m
(C) 36000 m (D) 100 m

Fig. shows the distance—time graph for the motion of two
vehicles ‘A’ and ‘B’ then

BT 52w oM ‘A’ i< B’ 1 9f$2 gagomwe (71 e
m -

ave fora A’ @3z B’ ufb oSt aifea wagsmem (e
ATl _CICR —

Distance ——J3p»
3

Time ——3»

(A) Car ‘A’ is faster / ‘A’ AT w© / ‘A’ m@ﬁm
(B) Car ‘B’ is faster / ‘B’ 9l[S1<4« e / ‘B’ 9II%i{6 %o
(C) Both ‘A’ and ‘B’ has same speed /
VTR 9IS ‘A’ Wi ‘B’ 1S B/
‘A’ @32 ‘B’ g6 A% wfe «ag
(D) None of the above is true / €291 GBI\ 7o) AZH
/TAFR 9T B8 7] 7N

A plane mirror produces
G« T[0T WA T FCA |
@B e wolet TATFA |
(A) Real image / e 2ifefag / wie 2ifefay
(B) Virtual image / oie 2if$fag / smie afefem
(C) Both real and virtual image / & =1 SFI GLAIGIZ
/ R @3 TR G52

(D) None of above / @291 Ab1€ TZH
/ ¥R @F B T
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48.

49.

50.

51.

Which of the following is used for splitting sunlight
into seven colours?
e fFaes AATe axta fagfte fv@e it waa @it
JREFAT?
A o Are e [Rugfae w4 & Teea @@
JREFA T ?
(A) Prism / ferems / ferem
(B) Plane mirror / F1sT@a1 witottel / 7ot wofet
(C) Concave mirror / S/qs Wir2iel / Sqeet wofo
(D) Convex mirror / T&s witolel / T@et wofol

A ray of light is incident on a plane mirror at an angle of

Incidence 30°. What is the angle between reflected ray
and the plane mirror?

@Bt (PizTe afTE 30° Seree (oS FTTee wirAiee
wieifow (2rR | 2ifSwrs af o wirele <wq Trea @ id
e e
OB TN P 30° A2 (FiTe TSa Fofte = vifee
7 | eifowfere afi gt wofafba sty (witea ofsww s 2

(A) 30° (B) 60°

(C) 45°

(D) None of above / €293 @bl 727

/TR G o8 7

If the angle of incidence is 50°. What is the angle
between incident ray and reflected ray?

T wefed @94 50° 2 (Org Weifve wiw ifewire e
e (et fFae 2
T Seres (et 50° 7w ora wiifos afdy wak eifewfere afim
WA (TR Afaie Fo 2
(A) 50°
(C) 100°

(B) 40°
(D) 80°

A reflecting surface is curved outwards. Which of the
following mirrors is it likely be?

T4 (FITeY wieltor eifwiers 9ot Qe wita (@@ 2
AT ?
Moa @ woiter afewfre + afza W e
qxTF ?
(A) Concave / 9[q@s / Sqee
(B) Plane / 7151981 / Asro&T
(C) Convex /e /@
(D All of the above / @2[¥< FEFC=ACAE / BT 7416

52.

53.

54.

An object placed at 3m from a plane mirror is shifted by
0.4m away from the mirror. What is the new distance
between the object and image?

@5 TF QL FATSE wLeed 3 fibie rage aif wid 0.4
B (@ wreaiz e, IE0eE oI eifefaea Mes w4y
79?

@ (B Free wofrerd 3 o ware =i I8 @ GHitE wital
0.4 fibta waTy Ftaca e, 78 «ak effsfirsa st

A FO A2
(A) 6.4 m (B) 6.8 m
(C) 6m (D)5.2m

The figure given below shows an image produced by an
object placed in front of a plane mirror. Which is the
object from among the following?

e sl w— bbbl b kb e S o
ToTe A ANOE WL FILO 941 TF oI 2ATo[A
e 2Rl (ore IE0! fore Fat —

iewa fora aafb ree weited e At «a o a8a
aifefaq (raiitat ZraTe | 3 s #a —

-F -4
4 "E

Which of the following statements will be true for the
given circuit, when switch will be on?

TS (T3 TCHIE ANA (FINCH! TOITS W, AWCZ Bifd
Afera 02 AE —

o e qeAnTe (@M ToiTe wg 2 i, 5ifd Afe
2ATF —
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(A) Lamp 3 will glow first / (eI 3 2iats f&ferfe
/ (5T 3 2Ata TgfeTe 2a
(B) Lamp 1 will glow first / (&7t 1 2iets f&ffe=

/ &l | ST TG eTe 20d
(C) Lamp 1 and 2 will glow together and lamp 3

will glow later / (5777 1 S 2 ATFeTCH <A
3 7iige fEferad / et 1 @3 2 @FATe @3
3 oIt TGl A

(D) All the lamps will glow together / ASCEICANE
& qrFersl fefeifea / e
T @A THRTS TE

55. Three bulbs A, B and C are connected as shown in
figure. The bulbs B and C are identical. If the bulb C is
fused then

e @YeIAWR A, B W< C AR (26! A9 F41
02(7| B 9% C 9 q7F 28 9% C IEI00! 78 2 (90S -
Froa fora @RIt TS A, B @R C IR FEF(H Aol
91 2R | B @3k C 9t @92 $30919 28 @3k C e[
7B T oA -

(A) Brightness of both bulbs A and B will
Increase / A SI% B YTAG! IETEA TeeeTe! A
/ A @32 B 76 q1+1a7 Tewere! A

(B) Brightness of both bulbs A and B will
Decrease / A @3% B %6 A3 TeeeTs! FHI

(C) Brightness of A will decrease and that of
bulb B increases / A IR TeeeTS! FHR S

B 3774 YegeTel Afba/ A Aeaa Tegere! Fhia
93 B Iead TeTel Aifoed

(D) None of the bulb will glow / (FIT @bt @
(AZA 2T/ (FCA GF 6 IR Tegers 20 i

56.  Which of the following has both autotrophic and

heterotrophic mode of nutrition?
o (@i fAge Feond o 2o g offS conat
qH?
Toa @Fore FaTAREe @32 sRTeS vayared 2ife stem
qH?

(A) Fungus / (333 / 2@

(B) Venus flytrap / (S1% FI2G2l / (S F2GA

57.

S8.

59.

60.

61.

(C) Bread moulds / #Ife<6a (834 / AiTwHa (537
(D) Mushroom / ST*[<e3 / SIS

Amoeba digest its food in the

afSrefz o7 < © A6 FCA

afsret 7 e i #itoa Fea
(A) Food vacuole / 2% fafest / < fafest
(B) Mitochondria / 5% (e / MRbaefaa
(C) Lysosome / #12R & / &1[2% &
(D) Microbodies / % SR / % SR

Lipids are completely digested in which of the following
organ ?

TR (FAAY SRS A TR qu Ao 2w 2

Toa (Faewa s @i 7wt auat #iive 23 2

(A) Stomach / #if&%a1t / #lget
(B) Liver / 9§ / 959

(C) Small intestine / *F&IF / Falg
(D Pancreas / 1971918 / ST

Which of the following enzyme helps in protein digestion
in intestine?
TR (FAAY TS SFS 2 o Aoe F2H FA?
oA (FeE T bS oCE (A AT T FE?
(A) Pepsin / ¢ot=ifos / cotlfm
(B) Lipase / oo/ siizroe
(C) Trypsin / Goifos / Goifom
(D) Amylase / GSTI2CeTS: / GSTRCETST

Normal range of breathing rate per minute in an average
adult person at rest is —

g iy Afe afs fifiee zrem 3 «fFim tzrs -
GG N eTTTE e alfe [ v «Afafim == -
(A)9-12 (B) 15—18
(C)21-24 (D) 3033

During heavy exercise, we get cramps in legs due to
accumulation of

NI A FR ATFICS A oS (ol AR
33 PR wA
TIA G FAE T AT FLA Tl R T T |
(A) Carbon dioxide / FIETTIZ TIHTC / FIKTTI2 THZC
(B) Lactic acid / (=& «fze / (7ofos afse
(C) Alcohol / 9=T& 27T / GeTEge]
(D) Water / %t / Tra1
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62. The excretory unit in the kidney is called:

JF© 4T (A0 GFFE @iz

@ SHES @7 GFIE  F@ =
(A) Neuron / SCFE / [HFE
(B) Nephron / (%19l / (49
(C) Uniferous tubules / Fefarears By

/ZefrEam Teeam

(D) Bowman’s capsule / 3T 79JB / I3 F519761

63. In plants water is transported through
Tfewe #fiat i #ififze =
@3 T Tiew T AfaifEe =)
(A) Phloem / F¢a% / F ¢a%
(B) Xylem / G2teT / Sriggetsl
(C) Stomata / ?1q9% / /&%
(D) Root hair / TN / TECAN

64. Water absorption through roots can be increased by
keeping the plants
e S © <if2 Jera/fieere 2T cirae wret
B2 BRIkl
G TfgTs (@02 FTTA T (oirae e
ECEEIRIER
(A) In the shade / &® / Qa¥
(B) In dim light / F3 (?[[29® / T HATCF
(C) Under the fan / (4 9T / (TR AATE

(D) Covered with a polythene bag
/ #iferfema cieita oif =it/

Aferferea e Wea vife

65. Which of the following is responsible for the clotting of
blood?
(ST (5F41 VA< AT o4 (FiAaY T 2
FCEA TG A1 Ty ACHR (FAD wiah 2
(A) Red blood cells (RBC)
/ @ifEe 7@ Ffwt /| @ifEs 7@ Fow
(B) White blood cells (WBC) / (4© & Fio/!
/ (4 TS TP
(C) Platelets / Swbferat / SRpiera!

(D) Macrophages / (& (&G / (I (e

66. The type of reproductive method in yeast is

vy 7lfora 2 23|
BA A AFfere 23 |

(A) Fragmentation / ¥féseaae / <feseamast
(B) Spores formation / (39wl / (A9 RI=I
(C) Budding / SFTAMANT / JFCEAME

(D) Eyes / 5% / 5%

67. In lower plants, a globular structure called is

formed, which contains spores that are released when
favourable environment is found

i sTIze @bt (atteTigiea fmasfa s 23, 7' @qraE
ToAge ifara=t 2iiter fste =31
o quefa Tfew T st (ieigion wiwta o 23,
@A @YTANTEN BoIge Afarat (oirer fsfe zm|
(A) Sporophytes / (I94 / (RYLR
(B) Sporangium / (R4 / cagHiat
(C) Sporangiophore / ﬁi{‘iﬁi 49 / @‘?lﬂ'ifﬁ 44
(D) Sporangiospores / (R4 (A9 / AL a9

68.  Which of the following phenomena is not an indication of
a chemical change?

©oa (@16l 2Afatate At offaea aez -
(A) Evolution of a gas / (9%a Te2ifE / coiteia Teolfe
(B) Change in shape / Vﬂ‘@?ﬁ? sAfsa
R
(C) Change in temperature / €19 #if<q@a
/ oitea sffqen
(D) Change in colour / 3¢3 #If¥ase / v wifdaew

69.  Which of the following are synthetic fibres?
TER (FCAR AfEe wig 2
oA (FmTeT AR it 2
(A) Silk, Nylon, Rayon and Polyester
/ I, T, (R 1 Ao S /
GRS, T2, (R 3R ~AfeT Bl
(B) Flax, Polyester and Nylon
/#idl, #AfeTBI S e /

o, ARTBIA G3R AT
(C) Nylon, Polyester and Rayon
/ %M, #AfeTBR o qE

/ iEEw, AR @ @Ee
(D) Wool, Flax and Jute / &1, *i¢ i< SQ1i{5/
T, #ief @a2 A
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70.

71.

72.

73.

Observe the given reaction carefully and identify the
name(s) of the product(s) formed in the reaction.

MgSO, +2NaOH ——> Mg (OH ), + Na,SO,

©oTq TAfEPaICE! ALt Aqiawe 4 Ol [iEFaere veoly

MgSO, +2NaOH —— Mg (OH ), + Na, SO,

Sreva il siaya w=ita afrase #9732 e
T 26T TS A fofee F4 -
MgSO, +2NaOH —— Mg (OH)2 + Na,SO,
(A) Magnesium sulphate
/ CRATATRAIS QIETCES / (RIS AT
(B) Sodium hydroxide
/ e grreiee / Cifea sz
(C) Magnesium hydroxide and sodium

Hydroxide / (TR G A B
FIGIARE / RO ZRCHZS @3 G
TGRS

(D) Magnesium hydroxide and sodium sulphate

/ oA ZRTGIHILT S BfCAN Qs
/ CRATATS ZRGEIR IR iR e

Which of the following oxides, when dissolved in water,
gives a solution which turns blue litmus red?

TR (FICAE THILT S FATS (A 21D BT
(14t w3 (BiTa e feibag e Fra 2
A FASTE ST TTe TAYS 28TF 27 BT
267 TG @ FIOAE #e FCA 2

(A) MgO (B) CaO

(C) CO, (D) CuO

Phenopthalein indicator shows the following colour in the
acidic medium

T FAfeT ©o e @Ay 35 wifEe sgsre @aR 2
(o e THa (@FAH 16TF AEE MY @AW 2
(A) Red / ¢t / 1@
(B) Blue / et / Fiet
(C) Colour less / a2 F« / 3o
(D) Pink / @&t / cateni it

If litmus paper is dipped in a solution of sodium hydroxide
it will turn

febaig cotolfa < Sfewts TRy AiTe vae ek fr
[GEtiackul

o coteitare AfTam TRy AEe v g A
20 |

74.

75.

76.

77.

78.

(A) Yellow / &8t / zoW@
(B) Green / (&gt / 7q&
(C) Blue / a1t / [t

(D) Purple / @Qﬁﬁl‘l/ el

Coca - cola is in nature

FHIE Al agfeq|
T el agfeq |
(A) Basic / ®I9FT / TR
(B) Acidic / =f&Es / wifes
(C) Neutral / 2ifsrs / eiifire
(D) Amphoteric / Ten4St / Toayst

Which acid is present in the sting of an ant?
SR919 kSl e (FIRY @fRs (ol m e

AL BTG (FYACe @fFre shem am e
(A) Propanoic acid / c2i#iizaifaes «afge
/ ceiiTaifae afre
(B) Formic acid / TFahe Oige / Fahe ufge
(C) Dil HCI1 /= HC1/#1g HCI
(D) Acetic acid / «fefos «ufge / afifts «fre

Freezing of water is
AN fEE
CIGERETIIGH |
(A) Physical change / (Sifes #ifsaee /
ceifes Afaaeq
(B) Chemical change / qafes #ifqes /
(C) Redox reaction / Ti<e-faeiae /
Srie-feae
(D) None of these / 4518 7=T / aF (o€ T

The liquid metal among the following is

TR (FINEY A 4o ?
Teoa I oF= 49 ?
(A) Gallium / coifeais/ catferas
(B) Mercury / #iiqt/ #itat
(C)Both A and B/ A=l B 7zal/ A @3 B¥ew
(D) Berylium / cafaferams/ @faferam

Identify the type of the given reaction:
2H,0—-2H,+0,

e RN (1 eraa 2
2H,0—-2H,+0,
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ae eifeferaiia v fofeee a1 —
2H,0—>2H,+0,
(A) Combination / ACAE / ATATET
(B) Decomposition / Rares/ / ftarem
(C) Single displacement / @FZI *fqqee/
| g slfass
(D) Double displacement / T&gi= #ifs<se/
/ g wifaaea

79. The density of a substance in CGS system is 4 g/cm’. Its
density in SI system is kg/m’
e G5 CGS ?afee 9y 4 g/cm’ (SC@ SI Aafo© Ty
Exll

kg/m’
CGS *&fers a& s AWed 99 4 g/cm’ 20 S AGere
2w <oa Ty 23 kg/m’
(A) 4 (B) 40
(C) 400 (D) 4000

80. Identify the nature of light emitted from a torch light
@Bl 559 #13 Fefe (2iat (oiieTa et fefa #at —

«&f5 55 (At fefe et afim aigfe Fda g —
(A) Convergent / Sifeaat / st
(B) Divergent / Q2 qt / Stopat
(C) Parallel / TG qIe / @GN
(D) Irregular / Sifeafsrs / wifvafare

ENGLISH / 31 / 321! (20 Marks)

Read the passage carefully and answer the questions
that follow: (Ques. No 81-83)

Children should be educated without pressure. They
should enter into adulthood free from the damaging effect
of tradition and fear. Free expression of thought should be
given to the children. A child once asked Krishnamurthy,
“Is it your hobby to give lectures? Don’t you get tired of
talking? Why are you doing it?” Krishnamurthy replied:
“I am glad you asked that question. You know, if you love
something, you never get tired of it. I mean love in which
there is no desire of wanting something out of it. If you are
talking because you are getting something out of it:
money, reward, sense of your importance: then there is
weariness. Then it has no meaning because it is only self
fulfillment, but if there is love in your heart, it is like a
fountain, always giving fresh water.”

81. What type of expression should be given to children?

(A) Busy (B) Damaging
(C) Complex (D) Free
82. Weariness means feeling
(A) Happy (B) Joy
(C) Tired (D) Angry

83. Which reward will not make you feel weariness?
(A) Money (B) Sense of importance
(C) Only reward (D) Love in your heart

Read the poem carefully and answer the following
question: (Ques. No 84-86)

THE SONG OF AN UNBORN GIRL
I’m an angel disguise with dimpled cheeks and laughing
eyes. Don’t you want me? I am your baby.
I have come as a gift from heaven’s hall in your heart.
Oh, hear my call Mother keep me I am your baby.
Oh Mother, let me live, don’t take away my life.
Mother let me live. You know it isn’t right to stop me
being born, I want to be yours. Oh Mother, let me live,
don’t take away my life. Mother let me live.
I want to live my life.
Mother, you will see when you look at me and you hold
me in your arms
You’ll fall in love with me,
Like a flower in your care, I am a gift so pure and fair.
Don’t you want me? I am your baby.
My little life please don’t abort, let me live, don’t cut me
short. Mother, keep me I am your baby.
84. The poem is a cry of:

(A) an angel (B) an unborn baby

(C)a daughter (D) a girl child
85. The speaker is in danger because:

(A) The mother is cruel. (B) She is ugly.

(C) She is a girl. (D)People don’t like her.
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86. The opposite of the word ‘Heaven’ is
(A) Flower (B) Hell
(C) Fair (D) Gift

Find out the synonyms for the given words from the
options given below: (Ques. No 87-88)

87. Quit

(A) silent (B) cool

(C) leave (D) completely
88. Abridge

(A) Abort (B) Span

(C) Shorten (D) Cross

Find out the antonyms for the given words from the
options given below: (Ques. No 89-90)

89. Strict
(A) Cautious (B) Severe
(C) Join (D) Lenient
90. Stingy
(A) Wasteful (B) Democratic

(C) Spiteful (D) Liberal
Choose the correct alternative which expresses the
appropriate meaning of the underlined idiom/phrase
(Ques. No 91-92)
91. I have made up my mind.
(A) I have prepared.
(B) I have made someone happy.
(C) I have made a decision.
(D) I have criticized someone.
92. Her fame spread far and wide.
(A) Her fame grew. (B) Her fame lessened.
(C) Her fame ended. (D) Her fame began.

Choose the correct preposition from the given
alternatives: (Ques. No 93-94)

93. The teacher set some homework the end of
the lesson
(A) about (B) in
(C) of (D) at
94. He killed the snake a stick
(A) with (B) by
(C)in (D) of

Identify the parts of speech of the underlined
words: (Ques. No 95-96)
95. Congratulations! You finally got your
master’s degree.
(A) Adverb (B) Interjection
(C) Conjunction (D) Pronoun
96. Skinny dogs are not necessarily healthy
(A) Conjunction (B) Noun
(C) Adjective (D) Verb

Choose the alternative where the correct tense form of
the verb is used: (Ques. 97-98)
97. (A) I have come here yesterday.
(B) I came here yesterday.
(C) I had come here yesterday.
(D) I was come here yesterday.
98. (A) She is sleeping for two hours.
(B) She has been sleeping for two hours.
(C) She could came here.
(D) She has went there.

Choose the correct alternative: Change of Voice
(Ques. 99 -100)
99. I am writing a letter.

(A) A letter is written by me.

(B) A letter is writing by me.

(C) A letter is being written by me.

(D) Let a letter be written by me.
100. Call him.

(A) He called.

(B) He is called.

(C) Let him call.

(D) Let him be called.
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GDC, SILCHAR IIT (GUWAHATI) IIT (KHARAGPUR) 1T (DARWAD) NIT (SILCHAR) NIT (SILCHAR)

A. MATIN SARKAR MUHAMMAD AHMED ABDUL KAYUM SAFIQ I. SIDDIQUE ANURAG SAMADDAR
(KOKRAJHAR) (HOJAI) (BARPETA) (DARRANG) HOJAI)

JEE (ADV) 2020 JEE (ADV) 2020 JEE 2020 JEE (ADV) 2020 JEE (ADV) 2020 JEE (ADV) 2020

AEC (GHY) NIT (SILCHAR) AEC (GHY) AEC (GHY) NIT (SILCHAR) AEC (GHY)

80+ Students got selected for Medical &
18+ Students got selected in Engineering

AJMAL FOR EDUCATION, EDUCATION FOR ALL.

SUMON KUMAR DAS DIPAK SARMAH SAKIBUL ISLAM NIKUNJ BERIWAL
(KARBI ANGLONG) (KARBI ANGLONG) (DARRANG) HOJAY
JEE (ADV) 2020 JEE (ADV) 2020 JEE (MAINS) 2020

NIT (SILCHAR) TU (TEZPUR) NIT (SILCHAR)
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